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PART - A
I' Answer art questions. Each carries lz mark.

1) The Profiwolume ratio expresses the reration of .=- to safes.2) ---- ratio is considered as crude ratio.
,, 

$:",:ff:received 
by a ba.nk is treated as _ activity in cash flow

4) Calendar variances are the type of
(4xVz=2)

PART - B

ll. Answer any four questions. Each carries one mark.
5) Define Managerrrent Accounting.
6) What is ,Margin 

of Safety, ?

7) What is Master Budget ?

B) Define the term ,Financial 
Analysis,.

9) What is ,Cash Equivalents,?
10) What is'Material Mix Variance ?

(4x1=4)

PART - C
f ll' Answer any six questions (not exceeeling one page). Each carries three marks.11) Explain the Nature of Management Accounting.

12) What are the Manageriar Apprications of Marginaf costing ?
P.T.O.
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13) Brief the rimitarions of ratio nnrrvri, 
llltlll/lt/lllfilltltllllllttlll/lt/llfflllllllfll

14) Trace the .

ls) rhe .",".,1ff:ffi#dserins
iof sales during the two periods were as folfows :

,ol, -' ,, 
sates (Rs') Totaf cost (Rs.)

2ol8 - 19 16'00'000 
14,4o,ooo

carcurate : pNRatio, 
BEp in sares "rrli;ll,ltr 

20,00,000
t u' t'oilI; fo'owins informarion, carcurate Labour 

"#::fir 
of Rs. s,00,000.

standard ,.",ffi wases , ;ftX 0",. no*Actual rate of *"g".- , *..' t2 per hourActual hours
17) prepare 

a cor 
:2'ooa

nmon size statement from the following data :

Net profit

Net safes

2018 g: t" Lakh) 2'rc(Rs. in Lakh)
240

1,500

50
10

1,200

Administrative expenses 1,200

seiling expenses 40

cost of goods sord 20

18) Fino out the u"l,^ ^, nfa^i-- -. 
800

stockr,?["o"Jn",iT',f '":l:Htheoeiveninrormation:
Operating ratio : g5%
Gross profit ratio .eFo/
Net profit

stock turnover : Rs. 75,ooo
8 times.

(6x3=19;

rV.. Answer any two questions Each Jril:;:t marks.19) From the following informatic
items as possibrel "-' ' ' '*'r")o' make out a position statement with as manyCurrent ratio

Liquid ratio :2.5
: 1.5
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Fixed assetVproprietors fund : O.7S
Working capital

Reserues and Surplus
Bank overdraft

Assume that there is no tong term debt and fictitious assets.
20) The expenses related with the production at 60"/"capacity in a factory aregiven as follows :

Current production

Material cost
Wages

Direct expenses
Factory overhead

: Rs.60,000

: Rs.40,000
: Rs. 10,000

: 600 units

: Rs. 100 per unit
: Rs. 40 per unit

: Rs. 10 per unit
: Rs.40,0A0 @0"/" Fixed)

Assets

Land

. K20u 0179

2018 2019

1,00,0m 1,50,000

2,46,000 2,13,500

50,000 25,000

Administrative expense : Rs. 30,000 (60% Fixed)
You are required to prepare Flexible Budget at BO% and 100% capacities.

21) The following are the comparative Balance sheets of Galaxy Ltd. as on3l.tDecember 2019 and 201g.

Liabilities 2O1g 2019
Share Capital
(Shares of

Rs. 10 each) 3,50,000 3,70,000 Stock

Profit and Loss Alc 50,400 52,800 Goodwill

9% Eebentures 60,000 30,000 cash and Bank 42,0@ gs,0oo

Creditors 51,600 59,200 Short Investments 3,000 4,OOO

Debtors 71,000 94,500

5,12,(X)0 5,12,0005,12,@0 5,12,000
Other details are :

a) Dividend decrared and paid during the year Rs. 1z,sOo.
b) Land was revarued during the year at Rs. 1,50,000 and the profit onrevaluation transferred to p and L Nc.

You are required to prepare Cash Flow Statement. (2x8=16)


